

1E  $\lim_{n \rightarrow \infty} \frac{2n^2 + n^2 \sin^2 n}{n^3 - 8} = \lim_{n \rightarrow \infty} \frac{2\frac{1}{n} + \frac{1}{n} \sin^2 n}{1 - 8\frac{1}{n^3}} = 0$  (1)

$\left| \frac{2n^2 + n^2 \sin^2 n}{n^3 - 8} \right| \stackrel{n \geq 3}{=} \frac{2n^2 + n^2 \sin^2 n}{n^3 - 8} \stackrel{(1)}{\leq} \frac{2n^2 + n^2}{n^3 - 8} \stackrel{(1)}{<} \frac{3n^2}{\frac{1}{2}n^3} = \frac{6}{n} < \varepsilon \Rightarrow \frac{6}{\varepsilon} < n$

$N(\varepsilon) = \max \left\{ 3, \left\lceil \frac{6}{\varepsilon} \right\rceil \right\}$  (1)

1D  $\lim_{n \rightarrow \infty} \frac{n^2 + n^2 \cos^2 n}{2n^3 - 15} = \lim_{n \rightarrow \infty} \frac{\frac{1}{n} + \frac{1}{n} \cos^2 n}{2 - 15\frac{1}{n^3}} = 0$  (1)

$\left| \frac{n^2 + n^2 \cos^2 n}{2n^3 - 15} \right| \stackrel{n \geq 2}{=} \frac{n^2 + n^2 \cos^2 n}{2n^3 - 15} \stackrel{(1)}{\leq} \frac{n^2 + n^2}{2n^3 - 15} \stackrel{(1)}{<} \frac{2n^2}{n^3} = \frac{2}{n} < \varepsilon \Rightarrow \frac{2}{\varepsilon} < n$

$N(\varepsilon) = \max \left\{ 2, \left\lceil \frac{2}{\varepsilon} \right\rceil \right\}$  (1)

2A  $(1 + \frac{1}{2n})^n = \left( (1 + \frac{1}{2n})^{2n} \right)^{\frac{1}{2}} \rightarrow \sqrt{e}$  (1)  $\sqrt[3]{3n^2} = \sqrt[3]{3n^2} \leq \sqrt[3]{3n^2 + 1} \leq \sqrt[3]{4n^2} = \sqrt[3]{4} \cdot \sqrt[3]{n^2} = \sqrt[3]{4} \cdot \sqrt[3]{n} \cdot \sqrt[3]{n}$   
 $\lim_{n \rightarrow \infty} a_n = 3\sqrt[3]{e} + 2$  (1)  $\downarrow \downarrow \downarrow$  (2)  $\downarrow \downarrow \downarrow$

2B  $(1 + \frac{1}{5n})^n = \left( (1 + \frac{1}{5n})^{5n} \right)^{\frac{1}{5}} \rightarrow \sqrt[5]{e}$  (1)  $\sqrt[2]{2n^2} = \sqrt[2]{2n^2} \leq \sqrt[2]{2n^2 + 1} \leq \sqrt[2]{3n^2} = \sqrt[2]{3} \cdot \sqrt[2]{n^2} = \sqrt[2]{3} \cdot \sqrt[2]{n} \cdot \sqrt[2]{n}$   
 $\lim_{n \rightarrow \infty} a_n = 2\sqrt[5]{e} - 3$  (1)  $\downarrow \downarrow \downarrow$  (2)  $\downarrow \downarrow \downarrow$

3C  $\frac{3x^2 - 3x - 6}{x^2 + 4x + 3} = \frac{3(x-2)(x+1)}{(x+3)(x+1)}$  (1)  $\lim_{x \rightarrow -1} \frac{3(x-2)(x+1)}{(x+3)(x+1)} = \lim_{x \rightarrow -1} \frac{3(x-2)}{x+3} = \frac{-9}{2} = C$  (1)

$x = -3$  - bzw. wenn teilerlos ... (1) a. wenn nicht plus multiplizieren wäre (1)

3D  $\frac{x^2 - x - 2}{3x^2 + 3x - 18} = \frac{(x-2)(x+1)}{3(x+3)(x-2)}$  (1)  $\lim_{x \rightarrow 2} \frac{(x-2)(x+1)}{3(x+3)(x-2)} = \lim_{x \rightarrow 2} \frac{(x+1)}{3(x+3)} = \frac{3}{3 \cdot 5} = \frac{1}{5} = C$  (1)

$x = -3$  - bzw. wenn ... (1) ... (1)

4C  $f'(x) = 2^{\frac{x}{x^2+1}} \cdot \ln 2 \cdot \frac{x^2+1 - x \cdot 2x}{(x^2+1)^2} - \left( 3x \frac{1}{1-x^4} \cdot 2x + 3 \arcsin x \right)$

4D  $f'(x) = 3^{\frac{x^2+1}{x}} \cdot \ln 3 \cdot \frac{2x \cdot x - (x^2+1)}{x^2} + \left( 2 \arcsin x^3 + 2x \frac{1}{1+x^6} \cdot 3x^2 \right)$